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1km? = 100 ha = 10000a = 1000000 m?
10km? = 1000002 = 10000000 m? = 1000 ha
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100000 + 10000000 + 1000 = 10101000 ¥H Tt
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha
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T e 92 1A A vlus) FYrh
@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha




@ 56000000 g = 56t

@ 380000g 4 0.063t = 443 kg
(@)3.5t +820kg = 1170 kg

@ 0.7t -2 70g ] 10000 Hio]T},

® 380kg + 4200 g = 380.42kg

1t = 1000kg = 1000000 g
® 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg
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5.6t = 5600 kg
5600 + 40 = 140(7)
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800cm — 8m
5 X 8 = 40(m?)




1km? = 100 ha = 10000 a = 1000000 m?
1km? = 1000000 m?

B Ho] 1 5x5 = 25(m?)
1000000 + 25 = 40000(HH)
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360 x 210 + 2 x & = 25200(m?) = 2.52( ha)
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(24 3) x 0.7+ 2 = 1.75( km?)
= 1.75km?2 = (1.75 x 100) ha = 175 ha
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(240 + 30) x (180 + 30) — 240 x 180 = 13500(m?2) = 135(a)
= 13500 = 135a
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@ 590kg © 4t

© 08t @ 570000 g
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@. 590 kg

©. 4000kg

©. 800kg

@. 570kg
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10t - 1.3t = 8.7t = 8700 kg
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1t =1000kg
1000 + 40 = 25(7H)
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= 700 X 350 = 245000( m?)
245000 m? = 2450a YU}
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2450 + 50 = 49(7)) ] 2
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7y Aol o] HAS ha B L= HHLO| A TEY T
ZF 1 540000 m? = 54 ha

S : 10m? = 0.001 ha

1 3600a = 36 ha

— 54 ha + 0.001 ha + 36 ha = 90.001 ha
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8ha x Z = 6ha = 60000 m?
60000 = 250 = 240 m




